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Topic:- English
1)

Question Stimulus :-
Fill in the blank with the suitable option given below.
He gave me ______ few books to read.
o the
e an
e some
e a
Correct Answer :-a
2)
Question Stimulus :-

Fill in the blank with the suitable option given below.

It was ____ unique hotel.
e a
e an
e the
e the most

Correct Answer :-a

3)

Question Stimulus :-

Fill in the blank with the suitable option given below.
He can be considered _____ honest person.



o the
e an
* most
Correct Answer :-an
4)
Question Stimulus :-
Fill in the blank with the suitable option given below.
The gate opened ___ the man pushed it.
o if
e because
e unless
o till
Correct Answer :-because
3)
Question Stimulus :-
Fill in the blank with the suitable option given below.
They will visit you _____ they go to the airport.
e before
e after
e when
e until
Correct Answer :-before
6)
Question Stimulus :-

Fill in the blank with the suitable option given below.

We have time to reach station.



e enough
o few
* many
Correct Answer :-enough
7)
Question Stimulus :-
Fill in the blank with the suitable option given below.
cookies taste great.
e This
e That
e These
e Little
Correct Answer :-These
8)
Question Stimulus :-
I wished to see that movie yesterday, butI _ find the DVD.
e don't
e might not
e wouldn't
e couldn't
Correct Answer :-couldn't
9)
Question Stimulus :-
I don't know what to say. You_____ a lawyer for an expert advice.
e are able to ask
e could ask

e must ask



e have to ask
Correct Answer :-must ask
10)

Question Stimulus :-

He didn't join us for concert yesterday because he

e should
e must
e had to
e could
Correct Answer :-had to
11)
Question Stimulus :-
Meena said, "I write a letter”. (Change the narration)
e Meena said that she writes a letter
e Meena said that she wrote a letter
e Meena said that she had written a letter
e Meena said that she write a letter
Correct Answer :-Meena said that she wrote a letter
12)
Question Stimulus :-
We are going to see my parents __ the weekend.
e on
e in
o for
e during
Correct Answer :-on

13)

write a report.



Question Stimulus :-

1932, a great fire broke out London.

e in, in

e at, in

e on,in

e in, at
Correct Answer :-in, in
14)
Question Stimulus :-
I don't like walking alone the streets midnight.

e at,in

e in,in

e in,at

® on,in
Correct Answer :-in ,at
15)
Question Stimulus :-
DIRECTIONS: Read the passage below and answer the questions that follows:
The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.
On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.
One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of

culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not



merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- In the sentence - ‘The word ‘culture’ and ‘civilization’ are often used
synonymously’, the word synonymously can be replaced with?

e Interchangeably

e Variably

e Constructively

e Obtrusively
Correct Answer :-Interchangeably
16)
Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.



Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- ‘Civilization’ can be termed as?

e The organization of masses in a productive manner

The collection of like people in various groups

A way of life as opposed to nature

A mode of living in to avoid communal disturbances

Correct Answer :-The organization of masses in a productive manner
17)

Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.



Question:- Living in a civilized society?

e Improves the condition of life of its inhabitants

e Gears up the masses to fight against the laws of nature

e Garners the best in totality to offer

e Has its repercussions in the form of communal tensions
Correct Answer :-Improves the condition of life of its inhabitants
18)
Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- Which of the following best describes a ‘holocaust’ as per the passage?
e A religious animal sacrifice that is completely consumed by fire

e A sudden violent political or social upheaval



e A large-scale and violent event in the natural world

e An act of destruction or slaughter on a mass scale
Correct Answer :-An act of destruction or slaughter on a mass scale
19)
Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.
Question:- Which of these is a component of a ‘civilized’ society?

e Communalism

e Communication

e Hostility

e Absence of compassion

Correct Answer :-Communication



20)
Question Stimulus :-
DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- The inhospitable temperament on the part of few sections of society has led
to ?

e Spend thrifty attitude

e Local mass mobilization

e Indifferent attitude of children

e Mass destruction of men and materials
Correct Answer :-Mass destruction of men and materials
21)

Question Stimulus :-



DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.
Question:- ‘Culture’ is civilization

e superior than

e associated with

e inherent in

e different from

Correct Answer :-different from

22)

Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of

living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for



improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.
Question:- The definition of ‘culture’ would include?

e Having clarity in matters of art and science

e Differentiating between sources of pleasure and pain

e Refinement of head and heart

e Establishment of spiritual conscience
Correct Answer :-Refinement of head and heart
23)

Question Stimulus :-

DIRECTIONS: Read the passage below and answer the questions that follows:

The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.

On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This



includes arts and sciences, music and dance and various higher pursuits of human life
which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may
be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the
deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- Being civilized does not necessarily make us cultured as well. The statement
is ?

e Entirely false

e Imaginary

e Ambiguous

e Significantly true
Correct Answer :-Significantly true
24)
Question Stimulus :-
DIRECTIONS: Read the passage below and answer the questions that follows:
The word ‘culture’ and ‘civilization’ are often used synonymously. However, they have
clearly defined meanings differentiating them. ‘Civilization’ means having better ways of
living and sometimes making nature bend to fulfill their needs. It also includes
organizing societies into politically well-defined groups working collectively for
improved conditions of life in matters of food, dress, communication, and so on. Thus
some groups consider themselves as civilized and look down upon others. This
disposition of certain groups has even led to wars and holocausts, resulting in mass
destruction of human beings.
On the other hand ‘culture’ refers to the inner being, a refinement of head and heart. This
includes arts and sciences, music and dance and various higher pursuits of human life

which are also classified as cultural activities.

One who may be poor and wearing cheap clothes may be considered ‘uncivilized’, but
still he or she may be the most cultured person. One possessing ostentatious wealth may



be considered as ‘civilized’ but he may not be cultured’. Therefore, when we think of
culture, we have to understand that it is different from civilization.

Culture is the ‘higher levels of inner refinement’ of a human being. Humans are not
merely physical beings. They live and act at three levels: physical, mental and spiritual.
While better ways of living socially and politically and better utilization of nature around
us may be termed as civilization. This is not enough to be cultured. Only when the

deeper levels of a person’s intellect and consciousness are brought into expression can
we call him/her ‘cultured’.

Cultural development is a historical process. Our ancestors learnt many things from their
predecessors. With the passage of time they also added to it from their own experience
and gave up those which they did not consider useful. We in turn have learnt many
things from our ancestors. As time goes we continue to add new thoughts, new ideas to
those already existent and sometimes we give up some which we don’t consider useful
any more.

Question:- Ostentatious is as good as?
e Modest
e Restrained
e Conspicuous
e Indiscernible
Correct Answer :-Conspicuous
25)
Question Stimulus :-
This almond chocolate ___ made by a small chocolatier in Zurich, Switzerland.
* is
* are
e be
* were
Correct Answer :-is
26)
Question Stimulus :-
Today  the last day of my trek at Mount Everest. I am tired and my bodyis
e is, shaken

e was, shaken



e has been, shaking
e is, shaking
Correct Answer :-is, shaking
27)
Question Stimulus :-
I think the attendant us. We waiting here for over half an hour.
e forgot, have waited
¢ has forgotten, have been
o forgotten, have been
e forgot, have been waiting
Correct Answer :-has forgotten, have been
28)
Question Stimulus :-
Rohit cannot drive the car. [Change into passive voice]
e Car could not have been driven by Rohit
e Car cannot be driven by Rohit
e Car was not driven by Rohit
e Car could not be driven by Rohit
Correct Answer :-Car cannot be driven by Rohit
29)
Question Stimulus :-
Reema was completing the homework. [Change into passive voice]
e The home work was completed by Reema
e The home work had been completed by Reema
e The home wok was being completed by Reema
e The home work was been completed by Reema

Correct Answer :-The home wok was being completed by Reema



30)
Question Stimulus :-

Shobhit will teach me English. [Change into passive voice]

English will be taught to me by Shobhit

English will have been taught to me by Shobhit

English is being taught to me my Shobhit

Shobhit will be teaching me English
Correct Answer :-English will be taught to me by Shobhit

Topic:- Hindi
1)

Question Stimulus :-

T AT e 397 R B

Correct Answer :-F&3

2)

Question Stimulus :-

eI e e F T FfaA|
. s
o &F
o X

Correct Answer :-¢fiX



3)
Question Stimulus :-

O e # 3ITWIH-vTT =T § IWFT AT AfST-

o AT

LN

Correct Answer :-3/H%adl
4)
Question Stimulus :-

g # wAE -

FH Ao

Correct Answer :-&0T dcqeY
S)

Question Stimulus :-
‘IYA-3cqA IHA T e 7T B-

o JIdT-HHAA

FO-gT=t

Sard-guT

FAA-ATTT

Correct Answer :-3T-&HH



6)
Question Stimulus :-
HATN-IAT H Ao &-
o fda oot F1-faem =X &
o foar R Fr-fo=r o1 &
o TAGAAT-ATITRY
o IfEUT-IFHFaT
Correct Answer :-fdar e’R F1-fa=r 91 7
7)
Question Stimulus :-
farr & & s @1 faFew Be &2
o dR, amT, PR, Yoy
o UANR, dGd, I, Tod
o I, g, ufA, faam
Correct Answer :-dR, a1, fFaRT, 4w
8)
Question Stimulus :-
ST 1 It 7ET B
° {TF
o FaT
e HITdlel
o aifa ey

Correct Answer :-8d%



9)
Question Stimulus :-
fre wog & woft aeg ‘welY F faee 87
o HFYed, TUIASS, TG
o gRg, sfhae, R
o 3fa, Aufa, AR
o MAwd, AEdar, TRER
Correct Answer :-gRg, 3ifHas, Rues

10)

Question Stimulus :-

gorel T faelieT grem-

Correct Answer :-felotel

11)

Question Stimulus :-

AIETd) T 9ITIaT= §-
° S:I'RT-n'

ARCT

o dlh

~

IRFT it



Correct Answer :-390ad T3t

12)

Question Stimulus :-

AT T IITIaT B
o qfsret
o QorEd
o« 3T
o YT

Correct Answer :-31T$f

13)

Question Stimulus :-
Qe & T FTHAT |
e IWcg
o HAtAleg
e Yld:
Correct Answer :-q‘\ﬁﬁﬁ

14)

Question Stimulus :-

EreTT” AsE HY TS FIa ATl AT B
o UGTS FHATCA glel W & I & ST &t
o Tt FETRIETe Y TgT$ T AEAaTES I



o 18T SHT UGTE FT 37
o FTH A FIE G
Correct Answer -ﬁnﬁmﬁmmaﬁrqmémmamﬁwm

15)

Question Stimulus :-

37T & T A FAI 37 I 6 a@a & 31 T61 ¢ % 397 @ wa 55 81 39 FROT AT, ST
¥ 57912 Y I ¥l 5 aF @ §1 TGS F Feark W AT Fed &, wosra & f a19 a7 07d gaAmy
FA HAT FOT| T AT TaF5 TG A ¢l FT g@ AT A

YT AT HT HETIOT Hifore-
o ST 435 a9 FT A AT FE A
o PG IS AT AL
o ST9 F37 1 AT FEH TIT T4
o T ¥ T AR T |

Correct Answer :-8T9 ¥3T 7 HIT T 37 FIAT|

16)

Question Stimulus :-

frT & & g AT B-

aT, =T gt 22T 8
31me, fraeT g Tea 81
3itg, Frae giota T2 g ¥

., e giora wea 81
Correct Answer :-f&:, frder Eljal?l' 42) %I

17)



Question Stimulus :-
frrafaf@a arrat & & v area 3 frervor wael sy w1 8, 9 Fla-ar e
o 3UHA UFH MNUAT @{ET 81
o 309 SHAT 3TBT Toolel HieT G2
« FPI W G 53T qF a1AT|
o g8l S A Fafepse Rfrcar e g
Correct Answer :-3g1 5a¥ I gafchse FAfHeaT el B

18)

Question Stimulus :-
§H ST A T8I ST W7 6 HYS a7 & A g Raew Fla-arg?
o H IU9S H T a1
o §H TUYA H TET ST AT
o H g9 H g1 ST U7
. ﬁ’aaq:rﬁaﬁmiﬁrg"l
Correct Answer :-® S99 & ggT SITdIT UT|

19)

Question Stimulus :-
a1 arerw & Rifega frfse-
o 3T T 4T AT
o 3T Fel % T g g St
o 9Tg! 3T TH. G g o

o T AT 31T AY 99 &5 =T



Correct Answer :-38e &gl & 3mer ?ﬂ E»’T AR

20)

Question Stimulus :-
“FATeT gret a4 T&er FATelt 8 3 AT HT WY AT A T g1
o FafeT grar ¥ 3R gu e e }
. FafeT A & yu R It §
. afew & wry & qu R e §
o 4 e STt § FiTr wEfer avar @
Correct Answer :-H3fed giaT § 3 47 @ et @

21)

Question Stimulus :-
“ET Y IR TFG HT # Fg A Al FH AT F T YT ApIfFd FieT : g2
o T HTHE T
o EX Y FIET AT
o B AQH ST IHFAT Tkl AT
o R AT A T TR

Correct Answer :-83 & Tﬁ Glel S{IdY

22)

Question Stimulus :-
frafaf@a & @ #ta o 9P Feaa 7@t &-
o 37T ST HIES G|

o T Y 39AT Hier 3y AL |



o TG F A AR
o PN & ax AT ATTHI

Correct Answer :-iﬁ'ﬁ' & 313’ HARCAT]

23)

Question Stimulus :-
= a¥ A o 3y 7T a3y 3 A oY g a=fY, s FY FEA B-
o T H T FETL
o HIATAT A 3TeT M|
o HTAT HER AT T
o UF 9 &1 |

Correct Answer :-FH3TTolT & 31TeT tici|

24)

Question Stimulus :-
“Hrger # Ft fewa 71 gar v e & Fgraa AT g |
A ghH @a AT

A9 A FH Faw

St aYer |t frars @
goTH @ IS T
Correct Answer :-5Td ST T Taw

25)

Question Stimulus :-

TR F AR -



. |
e YN

Correct Answer :-&:

26)

Question Stimulus :-
AT Ug Tz <ot Ufat &7 va e g
o oJdicel
N CE
o odglcyg
o AT

Correct Answer :-oTd T

27)

Question Stimulus :-

“foreet 3or & aryr frearaaTe fFam g waqor Hifaw
o S TafY

e

U B

- e

Correct Answer :-¢2T a’@'

28)



Question Stimulus :-
“TIGR Tees $77¢ Tl agd HI STI3HT & SATefel AT &|« T@ITH T& HT HETI0T F|
- FguTH
° aga@ﬁ'
» FEHTIAE
o TR

Correct Answer :-W

29)

Question Stimulus :-

safFd ford A & HTaR® dcal FT TR 81- & fow gafEa e gl

Correct Answer :-HETSﬁFIT

30)

Question Stimulus :-

HATET T 7Y 2-



Correct Answer :-fecqufY

31)

Question Stimulus :-

afeter & o wiRenR oreg B-

Correct Answer :-qaé'

32)

Question Stimulus :-

e arer P Fea 872
o o7 vE & Fat s oE @ R e ¥
o fooTe v & AT wuTer 39 T B 3R F FASTF IeTT AR T3 &N
o TSr=T3 v WIUROT aTT TUT 36F 3refieT guvT 3UarEy gl
o IWFT H F FIS ABHI
Correct Answer :-fSIeT3 U HTLROT 17 74T 38 3efisT g 3qar 81|

33)

Question Stimulus :-

forer arerat # 3m=AT, YT, 3297 3R FT A AT E, 35¢. T Fgd &1 S TR SR el
o T3, AYET A SHT TG, T3Y FT WFATT FU|

. FTOTAES

o YT ams



o 3TAAT dldh
o SIH ¥ HIS AGT
Correct Answer :-3TT dId s

34)

Question Stimulus :-
fe 2 2reg I7A & WA Y- FT TIST FIT-
S-SR
. 31‘3'.(]11'
o JUR-oTell §'3TI'
o SAR-ATCT
Correct Answer :-iﬂ?—lﬂ'—iﬂ?ﬂ Heq

35)

Question Stimulus :-

fove=t ereg g7AT A P v oA WE AN B, IHHT AqA HfAT-

ERT-4RT

HFS-IHFR

FAR-FIAR

Correct Answer :-iﬁ'—ﬂfd’

36)

Question Stimulus :-



fort oreg gl & I AT A A FlT W AAT -
o YHC-YTHIE =T &I AT-HaA
o SYLNT-ITHT= TAR-TAR
s ER-3ITER = HiAA-alwT
o AA-3fleT = HTT-gan
Correct Answer :-3UJNT-3THT= TAT-JAR

37)

Question Stimulus :-

fasmme fnd e B2
o @I Fell R
o R & A worw aiferat
o TRy &1 <y waft Qv ferat Y
o 3H & |t
Correct Answer :-fR=dl &1 Y yog@ Siferai 1

38)

Question Stimulus :-

HTEY forE 3THTHT Y el 372
o TSTEYTHT
o gfiRes et
. gt Rt

. g

Correct Answer :-fagRY



39)

Question Stimulus :-

HigeT T BIEY €Y erclt F FROT Ir<dt Al 30 g1y ¥ fovsher 15| Y@ifone FgTay #1314 2-

o 3aE A ST
o FHTHI THh SATAT
o HaF W@
o O AlHT T Ao
Correct Answer :-3THIHI b STl

40)

Question Stimulus :-

el GaTAT Y SATRFT H ITAT S@HT A F07 F 3¢ | Reret wmer & fore 3R Hggrar
qfae-

o §& &7 9IG ST
« AR AEHEC AT RE
o BN F TR TWT
o R 3@t W e
Correct Answer :-fa3 3T@Y 91 s

41)

Question Stimulus :-

# Rrear d@er T e aet et o A owF g o o) witer a @Y F ara geT gam ot 39 @ e §-
o IHAT ¥ IR G W 3esh
. FoE A AT gy H umr
o IWIF gt



o AR A FG RN
Correct Answer :-39IFd gl

42)

Question Stimulus :-
it Fir ¥ A FreT F AT FlA-FlT A2

T hIcY-SY hlcq

YaY Heg-HFds $Td,

YUshlc-HAglhlc

TS HeFdh- AT HFdH
Correct Answer :-9& hcT-HAFdD HIq
43)
Question Stimulus :-
yae FeT & fhaa 95 @ ¥
e 6
e 3
« 2
e 10
Correct Answer :-3
44)
Question Stimulus :-

forT & ¥ sl 91 AT T2



o FHHATIAT
Correct Answer :-HFTHATIAT

45)

Question Stimulus :-

IMEHAT YW IH FI, AT dlS) Gchid|
e ¥ A 7 ), @ aifs we sl
3U4Fd 3eTeVT fFy FreT F §-

o FEHT

o HFaH HE

e HUsSahlcy

I & ¥ B A
Correct Answer -AFdS P

46)

Question Stimulus :-

disrcy T &1 RN ST F4T 272
. ¥z

Correct Answer :-SpareT

47)

Question Stimulus :-
e @ F WIS FET AT ?



o BT A
e IR W
o AT H
Correct Answer -8R &

48)

Question Stimulus :-

frr avg & 7 7 sfase i Wit & Rea & st Rwear e § 39 7 @1 @ Faa 772
oﬂaw

o FET

Aled IH

gaH & F§ QN

Correct Answer :-&%&9T

49)

Question Stimulus :-
g1 et aor a1 Rfy F aer-aeET avia frar Jrar §, 98 FlT @1 IFER g 37
o 3YAT FAFR
e AY HAFR
o foaeifEa seFR
o IHUTH K CEary
Correct Answer :-farf@d JasR

50)

Question Stimulus :-

“grell F WA A Tl FA T F T o[ S0 JIA1”

IRFd 9fdd F FiT A1 FEFR §?



3YAT HThR

IAAPT HTFR

sfaerfFa R
TIH A FIS AET

Correct Answer :-3fae@fda daR

51)

Question Stimulus :-

N IH 1?3 T Fi?

‘gARIRT &, A fhag s

SWIFd 9fFd & FiT AT IAHR 2
o THIFT

o AU

S

39gFd axt

A @ FIS TqH
Correct Answer :-3hiad

52)

Question Stimulus :-
o Ffaar ar Few & @A, aof, o, 3fq, @7 A F1 AR & e Aee fr ar § 3 FAT FEd 82
o IAFR
e
* BT
o A ¥ TS G
Correct Answer :-Bg

53)



Question Stimulus :-

O T 8¢ & 9 @F T #F 14 a7 12 A Ifa W 26 AAT A §, 39 Faad 87

o
Correct Answer :-3fifaar
54)
Question Stimulus :-
frster 18,7 gfar aforard)
e R B A1 gard 11
sgalE A sl arw &

o HANT AR

o fAANT sEIR

® hIUT IH

. ST W
Correct Answer :-H3T 379R

55)

Question Stimulus :-
el 3URAT H YA Y FFATTAT HT T d@l HAFK T g

o JYHAT



Correct Answer :-3c98&1T

56)

Question Stimulus :-

3R 3R AT F FH ¥ A= W FiT 91 ¢ ao1ar 82

Correct Answer :-gwgﬁ'cﬁ'

57)

Question Stimulus :-
8% 9 UfFd # YIFd Fav-sdora Y FHAAT B Fed O
o TIOT
o Ifa
7
o JTOT
Correct Answer :-d&

58)

Question Stimulus :-
farafaf@a # ¥ a1k o5 8-
. a
o FauT
* SeadaT

gaH & FI§ QN



Correct Answer :-grgT

59)
Question Stimulus :-
g ot 7o ot oft, arar S & amr A Qe S @S A
o asfiucar
¢ AR
o T
o FRTe

Correct Answer :-873T

60)

Question Stimulus :-

aTell & o dig e, 35 9 HEn
FTY 9%3 doe i S AT 92 wWER
anht 0 ater g A, T don F aEh

FIT T 4T F deT, AT PR fRaEr

IFd gfFaal FE @l F awla @ §-

o FU

o 3T
Correct Answer :-gegell

61)

Question Stimulus :-



fAger:- o= e A1 75 FX e Tl F e v -

mwﬁﬁwaﬁ,aﬁﬁfrmﬁﬁwmaﬁaﬁlwﬁamaﬂ%wmwsﬂam
3 AT § 3 FT WM, A FAT A 31AT| A} W fF T8 A< {81 81n 3R 369 o7 i 7 @
TEdT &2 3 Scal T, <2’ | Aot 3mead A Fe1 ‘13’ | ST 3T @1 6 AN THAsT H 37 a1
oTEY 31T W& & Y AN FeIar & AT 37+ v oreg 3R e, <370sr | AR 379 AT H A= fF saa
R F& N1 ATEdT § FAT? TE Fgoll 41 A6 2 3T B g, Alar 3702 fg | @ g7 0
T THAST 7 3T TS| Uk T Tgol ST T8 11T H1ITeT U 37US Y QreFrel FeAT Y LT 7T W& A 580
T it gToT AY F T ot T1 91X, R AT A 3/ I[EA F TR 319 R=n| 3/ A v e A R
3R 73 &4 30 91T F Ty FF FT FeaoTR FIAT I@T| Aot 3F FI1T F71 07 ¢ o 3k 3@ A5
Gt & g 35T| 3 3703 & AR Y @7 7181 G 18 at A 39 fore oy = fam v za=
3l TE-AG AHRT A IHH T HTAT Y& FT AT 30 a7 el T@mait & Tor axeht ot 3t 3@t
13 Y g AGER J@THT & 97 317

URaT:- 3G HTel T T<=T VST I8! a1 I1AT| IE o1 T 3T Hehe HIAT 82
o ST HUST I8! =11 Hehell
o FoaT R T F AT AL § |
o FTI A HUST AW oTE! Hcl: T HUST oTE =11 41T
o 373) 3T gFa FaTS FY Ifa 3R e R PO AR R
Correct Answer :-3<a1 R a0t & TaTH ¢ |
62)

Question Stimulus :-

fAger:- e g I 7o FX e Tl F e ffeiw -

mwﬁ#wﬁﬁ,aﬁﬁﬁma@awmﬁaﬁlWﬁwmaﬂ?wmmsﬂem
3 ATl { F T WM, AY FAL H 31AT| A} W fF T8 A< [T 811 3R 3699 77 i 7 @
TTEAT §2 3TeT Scav 1T, ‘13’ | #Aar 3mead A Fgl ‘13’ | 39 3 @7 3 AL FHAsr & 3 a9
TEY 31T T8 & Y A Teraar F fow 3T« v 2req 31X e, 370sr | A 39 AT F WraT fF saa
R F& N1 ATEdT § FIAT? TE Fgoll 41 dTecl 82 3T B g, Aar 302 hg | @ g7 7
T WHST A 3T TS| U T Ugol SHhY d@<T A 1elT FHIeTer G 302 FT el 9T T 197 JT W@ A 37
T3 Y gooT A ¥ T $t To1 91X, O ST F 3@ IR T e | 3w i w1 e A fhan



3 73 & 30T 91T F Ty FiF FT sFASTR FHIAT I@T| Aot 3W HTA 1 397 ¢ oy 3t 3w A
Gl ¥ GHF 33T| 3HA 3703 F HHR AT 1@ 781 Gieht 71§ A A 39 fore Ry w1 o= v s@a
3t SE-AE TRRT F 3T LT T Y& F A1) 3WhY et Weft @it & v ol ot 3 3wt
13 AT dTE TEER W13 F 7 910

- 3T A AT a &1 3T 82

39 e &1 (AR € fFar 3 93 8 3k deer F @y #iF FT sedeR Far @

AT Fg=T F4T 918 T&T ¢l

3T qH @ T FHAS H 3T TS

A amewd I Far “Fd
Correct Answer :-38a e &1 Qe a8 fFar 3k a3 &F 3tk a9 & w1y A7 &1 seaaR Far @I

63)

Question Stimulus :-

foger:- e areg=ada 1 7o X AT 7o F Seav ffeiw -

fore &R # 3 el ofY, 76 A e aga WA 35 A | TF R 397 TR T BT Fo At A
3 AT { F T WM, AY FAL H I1AT| A} W fF T8 A< [T gn 3R 369 71 i 7 @
TEAT &2 3TeT Scav 1T, ‘13’ | #Aar gy A Fgl ‘13’ | 39 3 @7 3 A oS & 3T a1
oTEY 31T T8 & Y A Terrar F fw 3T« v 2req 311X e, 370sr | Ja 39 HeT F Wy fF saa
N Fo 1T ATEdT § FAT? TE Fgoll 791 A6 82 3 6T Fegr, afler 3703 | 3w q3r @
T HST A 3T TS| U T Igol SHhY d@<T A 1eIT FHIerer G 3702 FT el 9T HT 197 HT W@ A 37
Toa $1 soor At a7 ot To1 o, o e A 38 aE F 3 3o ) et e v faver A e
3 73 & 3iv F9TeT F Ty FiF FT SFATR FIAT I@T| Aot 3W HTT 1 37 ¢ oy 3k 3wt A
G2ft @ <o 3371 38R 303 F ATHR 1 @1 g1 Wil 78 ar A 3wk forw Ry qam 7w v 3w
3T SE-AET APRT A IHA T 3T Y F fAT| 3THY Tgr Areft T@mait & v ol ot i 3wt
12 HY dE TeIER W3 F T7 8|

Uee:- ‘Iae HAY UE A ‘AN UsE FhA W Thd HIaT §7?
o FAY #Y 3

. ag?raﬁ'taﬁraml



o agr-r STear

o WA F a7 FAY foasr oo Af@ar 3ot 4
Correct Answer :-9gd STed!
64)
Question Stimulus :-

farder:- faet rfed #Y g FT fAwT yeall & e 9w -

mmﬁﬁw?haﬁ,aﬁﬁfrmagﬁwmaﬁamwﬁwmaﬁ%waﬁamaﬁam
3 |TeT & FH3 HT 1M, AY FAY A AAT| A« e o 97 AT 3@ 3n 3R 389 g7 % g @
UTEdT &2 3T Scav f&dT, I3’ | A 3mead & Fgr ‘A1’ | e 3T @7 T3 AN gHsT /A 3udhr O
STEY 31T &Y § Y A Teraar & fow 3u= veh 2rsq 31X e, 3708 | Aat 3r9at AT A waT & saa
HR T IeTT TTET § FAT? FE Fgell FA1 ATecll 82 36 6T Fgl, Aer <30 | 39 g3 @
T TAST 7 3T TS| Uk T Tgol ST T8 1= H1ITeT YR 37US Y QreFrel FaT Y T3 AT W& A 587
T Y goo1 At & T ot To1 o, O ST F 39 IR #F I e | 3wet i v R A R
3R 72 &1 3 FereT & ATy Al HT STASTR HIAT TET| Hew I/ HTT 1 97 & o 3k 3@et g
Gt @ THF 33T| 30 3703 F MHR HT ¥@T 781 Tt 715 A A 39 fow Ry 7= fom) v 3wt
3T SE-AEY TRRT A IHHA LT HAT Y& F AT 3WhY ager Weft Ywmait & v ol o i 3wt
I3 AT IE TEIER @I F T7 810

UReT:- 5T R F& W1 Il § FAT ? a9 # F5° Usq g2
o Jfaeay WeurcAs fAdwor
o YR IIOF HAATH
o JfRTY aEF FdAH
o fRTT ars gdAH
Correct Answer :-3fa29a args GdH

65)

Question Stimulus :-

forder:- fawT 3= 1 gg F et wealt & seaw v -



mwﬁ#w?haﬁ,aﬁﬁfrmag?rwmﬁamwﬁwmaﬂ?wmmsﬂem
3 AT { 3 T WM, AY FAT A 31AT| A} W 6 T8 A< [T 81n 3R 369 77 i 7 @
TTEAT &2 3T Scav 1T, ‘13’ | A 3mead A Fgl ‘13’ | 39 30 @7 & A THAer & g a9
oTEY 31T W& & Y AN FeTIar & AT 37+ v oreg 3R ey, <370sr | AR 319t AT H A= B saa
R F& N1 ATEdT § FAT? TE Fgoll 41 ATec 82 3T B g, Aar 302’ hg | 3@ g7
ST THAST 7 3T S| Uk T Tgol ST T8 oi1eIT HIeToT I 37US Y el FaAT Y TT 7T W& A 587
Toa $1 soo1 At a7 ot To1 o, o e o 3% e A 3T 3o R 3er e v faver A R
3ikr 72 & 3tk Forer F A1y RIS FT gFaAR FIAT T A 3@ AT HT W7 ¢ 74T 3 IWHT AT
Gt & g 35T| 3 3703 & AR Y @7 781 i 18 ar A 39 forw oy = fam) v za=
3T SE-AET APRT A IHA T 3T U F fAT| 3THY Tger Areft T@mait & v ol ot i 3wt
13 I G TEER QT3 F T 97|

YReT: - 3UgFa ez i e

o ITcASYT
Correct Answer :-&gret

66)

Question Stimulus :-

fovaer agmer @ o o A feus weaY & Wét 3ea gfaw -
g &= i 747 g,

FECT T ATH ATY Tell,

& Y& 33T T8l 9|

3T ST SeaTd e,

3T a1 FT 98 T 378,



AT Fgd of 1§ T4 3N,

qH HH 3T, Fl To?

YR~ ‘FECT UASE FT AT §2
o HHAY
o f¥aca
o TYTel
o 3
Correct Answer :-3fedca

67)

Question Stimulus :-

fovat g & o 7 a feus weall & WY 3w gfaw -
gH drarelT Y 74T g,

AT T HTAH TY Tell,

& ¢ 331d STl 9|

3T FeART oy 373,

3T T F 98 T 378,

| Fgd &1 T§ T I,

qH FH 1T, FI T

yomr:- I of TGF D1 $¥ rafAg Farg?



. 3ﬁ'q\
Correct Answer :-aIdTsIT

68)

Question Stimulus :-

foveer agmer @ o a1 afeus oY & Wl 3ea gfaw -
g drara Y 4T g,

FEC T IATAH Y TeAT,

& 4 33T 81 9|

3TT FeTah SealTd 3731,

3T a1 T 9 T e,

| Fged @ T T 3,

qH FH 31T, F1 T

YeeT:- A FA 31T Fgl T F TA* Ueg ¥ TR wEaRa Far
o 3TelH
o &=t

o Joolld



Correct Answer :-d1amat

69)

Question Stimulus :-

foveer gemer @ o I A feus weal & Wl 3ca gfaw -

g drar= i 747 g,
HEAT FT ITAH WY T,
& Y& 33T T8l Il
3TT FoThT Seary 373y,
3T a1 FT 98 T 37e,
|9 FEd 81§ T I,

qH FH 31T, F3I Ter?

yeat:- foesr & @ et A FHidar w1 segFa fidw g2
o &Y 3R 3eamw

o HTA! FT ITAH

J

° m
o et Y gEA
Correct Answer :-&1aTsil &Y EF-n'

70)

Question Stimulus :-



fovaer aemer @ o o afeus weaY & Wl 3ca gfaw -

g draral Y 4T g,
AT T HTAH Y Tell,
& 4 33T 81 9|
3TT FeTah SealTd 3731,
3T T FT 98 T 3740,
| g 1 T T 3,

qH HH AT, Fgl Tqa?

9QeT:- IeolTq T FATATUY T8t 82
. ﬁm

e Iy

9
. g
e 3o
Correct Answer :-ﬁﬂﬁ'

Topic:- General Knowledge

1)

Question Stimulus :-

In a certain code, FIND is coded as LOST and GEAR is coded as MUCH. How
will GRID be coded in the same language? / &t Q¥ % & FIND & T ¢
LOST 3R GEAR & § ¥ MUCH @ 38 a1  GRID FT ¢ FT grm?

e LOCH



e MHOT

e TUHM

e MCOT
Correct Answer :-MHOT
2)
Question Stimulus :-

802 is IEEE standard for? / 802 & fav IEEE #® 82
o VWifi/dII-B I
e LAN / &=
e Bluetooth / sqg¥
e SRS / THIRTH
Correct Answer :-LAN / o=
3)
Question Stimulus :-

In a certain code ‘come back soon’ is written as '9 4 3’, ‘'soon hear all’ is written
as ‘41 2’, and ‘come all’ is written as ‘2 9’, What is the code for ‘hear’? / f&dt

fary T #, ‘come back soon’ # fa@r § ‘9 4 3’, ‘soon hear all’ ® fa@T ¢ ‘41 2', 3k
‘come all’ #! fa@r § 2 9°, a9 ‘hear’ # & FAT §M?

e 1
e 3

e 2

Cannot be determined. / @uRa &1 fFar s1 ¥Far 2l

Correct Answer :-1
4)
Question Stimulus :-

When Aman told Sana about Ravi, he said ‘He is the son of my mother’s husband’.

Who is Ravi to Aman? / 39 318 & U & IR & 1T Y HgTl Y 39« Fer 'y AN AT & 9fa w1 97



v FReRaad
e Cousin / &fa
e Brother / 5§
e Father / Rar
e Uncle / 3&a
Correct Answer :-Brother / #1§

)

Question Stimulus :-

Which of the following is not associated with spelling dialogue box? / @&t
H & 19 @1 &+l wag arFw & w1 wag 6T 82

e Ignore once / T& R 3U&T &3

Auto correct / T@T HE

Edit / Fuifed

Change / 9Rad«
Correct Answer :-Edit / Tuifed

6)

Question Stimulus :-

Study the following information carefully to answer the question? / §aTel FT AT o1 & fAT
AT e # tae ¥ 13?

P x Q means ‘P is brother of Q’/ P x Q FI Add ¢ ' P, Q FITHE &'
P - Q means ‘P is sister on’/P-QEFI'?H?IT‘W%'P, Qaﬁrar-r%'
P + Q means ‘P is mother of Q’/ P+ Q FT AT g ' P, Q AT AT’

P + Q means ‘P is father 0fQ’/P+Q"=FI'm%'P,Q$I'ﬁ?IT%'



What does A x B - C means? / A x B + CWWW%‘?

Cis aboy / CUFdsHT

A and B are males / A3RBEw§

Cissonof A/ C,A&TdeTg

B is brother of C/B, C #THTS &

Correct Answer :-A and B are males / A 3RB Y g
7
Question Stimulus :-

Which is the function, which displays row data to column or column data
to row? / A& & A FiT AT F, U 32T T FIAH 3T H AT FIAHA 3T HY U 32T H gafar

¥4

Index / gt

Column / Ffa#H

Transpose / dcelel

Interchange / dd-3eT
Correct Answer :-Transpose / Sgddl

8)
Question Stimulus :-

Anil starts walking from point A and walks 6 km towards north, then turn left and
walks 8 km. Then again turns left and walks 12 km up to point B. How far is he

from point A? / 3ifae g A & 4% Far 8 3 3caT i 3 6 Falt gaar 3, T ae gzar g 3k 8
forelt Trerar &1 R a1 Ayzar § 3k g B @& 12 et aorar €1 a5 g A @ frasit g 82

e V10 km /Y10 Tr#Y
e 8 km /8 falY
e 10 km /10 =t

¢ 6 km /6 &



Correct Answer :-10 km /10 &+t
9)
Question Stimulus :-
Which is not a font style? / &7 & @ &l wiec el 78 &2
e Normal / ad
e Bold / dle3
e Italic / 3o
e Subscript / gafHce
Correct Answer :-Subscript / gafesce

10)
Question Stimulus :-

Karan started walking towards south. He took a right turn, then a left turn
and then again a right turn. In which direction is Karan facing now? / &30r

 faror AT AR o= w AT g7 a H31, WY 910 731 AR 39F 915 T S 73 ) R
ferarm 3 0T 39 T T R?

e East / 9d
e North / 3t R
e West / ufRgH
e South/ gf&or
Correct Answer :-West / 9R9H
11)
Question Stimulus :-
Rajghat dam is a joint project of? /J<rre aier [3H] —— N TF FGFT TRATSAAT 82
e Uttar Pradesh and Madhya Pradesh/ 3ca? weer X Aeq waer

e Madhya Pradesh and Rajasthan/ &g weer 3R oy



e Madhya Pradesh and Gujrat/ #e w&er 3R erra
e Madhya Pradesh and Chatishgarh/ &ty y&er 3k acdiuae
Correct Answer :-Uttar Pradesh and Madhya Pradesh/ 3cdR weer 3ix e waer

12)

Question Stimulus :-

DIRECTIONS: Study the following information carefully to answer the question: / forder: weaT &1
IcaR & & far Awafaf@d el FI <9 & 93

A. There are five friends. / 9T g1&d %I

B. They are standing in row facing south. / @ ET&YOT Y NE TH yFT H @3 ¢l

C. Jayesh is to the immediate right to Alok. / T3 3Tells & faesher &5 3R &1
D. Pramod is in between Bhakti and Surabhi. / 98¢ #fFa 3 {I,Tfsl' FdaAR
E. Surabhi is in between Jayesh and Pramod. / '\flana' AT 3ﬁT yAe & & A %I

Who is in the middle? / i 7 [ 7 g2

Bhakti / #f@a

Surabhi / g‘rﬁi’

Jayesh / 3

Pramod / A

Correct Answer :-Surabhi / §If&
13)

Question Stimulus :-

In the forests of Madhya Pradesh there is wid-spared damage, due to
bores. In which tree space has the damage occurred? / #ET Y&l F Farell A

U SR AT aoTe F SATTF TR T FATT £ § | Ry gav-aferrer F 7 Jaer gam §2

e Bija/ s



e Teak/ Tl
e Sal/ ¥t
e Arjun/ 3131?
Correct Answer :-Teak/ @mils

14)
Question Stimulus :-

Six friends are sitting around a circular table and are facing the center of the
circle. Divya is between Prakash and Pankaj. Priti is between Molesh and Lalit.

Prakash and Molesh are opposite to each other. Who is just right to Pankaj? / &8
ardl T M AT & ARY AT &3 § 3R IF F Fg F IHAT FT W &1 R, ger 3R gwveT & A
# g1 oifa, A i afda & v & &1 werer 3k A v g F RAadia 3R §| Fle 9w & Rega g
IR F?

Divya / =ar

Lalit / afed

Prakash / 9t

Priti / Wifa

Correct Answer :-Divya / fear
15)

Question Stimulus :-

“Narmada Malwa severe link project” was implemented by Madhya
Pradesh government on? /"##gr ATerar MR foi aRATAT" Y 7L 982 IFR IR --

17 June 2014/17 ST 2014

17 June 2015/17 ST 2015

17 December 2015/17 fd@«T 2015

17 March 2015/17 A 2015

Correct Answer :-17 June 2014/17 5[ 2014



16)
Question Stimulus :-
DIRECTIONS: In the question below two statements are given followed by two conclusions

numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically

follows from the two given statements, disregarding commonly known facts. / order: s A
g # Y Fue, R 7 § St R ve 1 34 11 s &7 srepavor FRa @1 3 R e =t F v
AT ¢, 37l 81 3 FdaaTer el § et gl wshh forsand afed ot 2 g Rsveat & @ a9 Afsiw

A FleT a1 v e 1 FY=1 1 3TE0T FI@T R

Statement:/ h¥eT:

Some pearls are garlands / $& At AT §

Some garlands are ornaments / & HTT 3T 0T g
Conclusions: / sy

I. Some garlands are pearls / S HTell AT

II. Some ornaments are garlands / $& 3AT3{oT ATAT S

if only conclusion I follows / af¢ ¥aer fse¥ I gaor FXar 8

if only conclusion II follows / Ifg Faa fasay II TEIOT FHIAT %

if both I and II follow / IfX &t fasad I 3kt I 3reqavor 3 &

if neither I nor II follows / af& & &Y fsed I o7 &t frsed II 3reqavor Far @
Correct Answer :-if both I and II follow / If} @&t fased I 3k II 3rqeRor a7 @
17)

Question Stimulus :-

Which game has decided by Madhya Pradesh government to declare state
game? / Fiq q @ F TI-HTT (@] F T H 9T F F AT ACIUET TWHER gaRT favkyr
o aram?

e Kabaddi/ Fagd



e Malkhamb/ Ad@a
e Tennis/ f&H
¢ Kho-Kho/ @i-@r
Correct Answer :-Malkhamb/ Ad@F

18)
Question Stimulus :-

DIRECTIONS: In the question below two statements are given followed by two conclusions
numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically

follows from the two given statements, disregarding commonly known facts. / forder: s R
9o # & YT, B 3 § 3t o v 1 31 11 s &7 3rTavor X §1 39 R v et w W
AT ¢, 37T €1 3 TdaATe et & et g1 wsft s afed T o go Rspeal & @ o Afaiw

$Y Pl a1 sy e 71 FY=t T 3T FIAT L

Statements:/ hYeT:

All tigers are water / W3l aTer qreiY g

Some water are cupboards / & It AN §
Conclusions: / fAs&y:

I. Some tigers are cupboards / & §T9 HAANT §

IL. Some cupboards are tigers / $& AR a1e &

e if only conclusion I follows / I} &aa@ s I Tavor F+Xar §

if only conclusion II follows / af¢ ¥ae s II 37avor FaT ¢

if both I and II follow / I} gt fassd I 3 II sregavor #3a @

if neither I nor II follows / af& & &t fased I o7 &t frsed II 3reqavor Far @
Correct Answer :-if neither I nor II follows / If% & af fsa¥ I & & ey II JrefaRor &Xam §

19)

Question Stimulus :-



According to the national cleanliness policy survey, emerged as the
cleanest city in Madhya Pradesh? / TS Fa<adr siifa 10T & AR, Ao veer
AU ATF AT HFTTH 39T

e Indore/ &R
e Bhopal/ sarer
e Dewas/ @™
¢ Ujjain/ 3saa
Correct Answer :-Indore/ 3R

20)
Question Stimulus :-

DIRECTIONS: In the question below two statements are given followed by two conclusions
numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically

follows from the two given statements, disregarding commonly known facts. / e S A
Tt # Y YT, R 7 § 3t o v 1 3R 11 s 7 3rTaRor e §1 39 R v et w v
mm%,aﬁéﬁaémaw?#ﬁmraﬂmﬁﬁw&mﬁwmgcﬁwﬁﬁ#maﬁﬁm

#r et AT et T a2 FHU=AT &7 HTHIOT FIAT B

Statement:/ hYeT:

All goats are bags / T3t TRRATITT &
Some bags are toys / S T8 f@ela g
Conclusions: / frsHy:

L. Some bags are goats / & IEd THRAT &

IL. Some toys are goats / F& fEele swRar g
e if only conclusion I follows / 3af¢ Fad sy I 3TEIOT AT g
« if only conclusion II follows / af% ¥aer fsa¥ II r[avor FaT ¢

e if both I and II follow / If& 3T fassd I 3 IT 3refavor w1 &



o if neither I nor II follows / af& & af fased I o7 & frsand 1T 3regavor wam
Correct Answer :-if only conclusion I follows / af& #aa faswd I 30T #3aT &

21)

Question Stimulus :-

What are the length of Madhya Pradesh from north to south? / 3ca¥ ¥ Ef&IT d& HET TSl v

TS FATE?
e 615 km / 615 f&#Y
e 620 km / 620 f&#Y
e 634 km / 634 &=t
e 605 km / 605 f&aY
Correct Answer :-605 km / 605 &t

22)

Question Stimulus :-

Which of the following figure represents the relationship among Pens, Pencil and Books? / f%T
IR H F ieT A1 Fere, e 3R qEaw1 & e waer w1 gfafafoeg swars?

OOO ey @ a0

(4)

Correct Answer :-1
23)

Question Stimulus :-



Where is only fossil garden of Madhya Pradesh? / #tJ Y&2r &1 UHHAT SARHA
36T BT 87

e Mandla/ #zer
e Satna/ dd«T
e Dindori/ =210
e Panna/ Yol
Correct Answer :-Dindori/ 33/

24)
Question Stimulus :-

Which of the following project in Madhya Pradesh and Gujrat are the Joint
project? / farafaf@a aRtsran & @ Ftar o wrew gaer ik IorTa # gy IRAS=r 22

Tawa Valley/ darsrd

Narmada Valley/ #3ier

Tungabhadra Valley/ qersreraré

Mahanadi Basin/ #Ag<< afaer
Correct Answer :-Narmada Valley/ sT#gr =y

25)
Question Stimulus :-

The famous novelist Vrindravanlal Verma characterized which king in the Novel “Mriganayani”?/

YRAG STFITHHR FoaTaelelel JAT A YT "HITIA" & T Tt &1 TR=-FR=or fmar
e Chatrashal/ sadTer
e Bax Bahadur/ s&8 SgIqY
e Raja man singh/ s A A%
e Madhav Rao Sindhiya/ #mea 39 fRfear

Correct Answer :-Raja man singh/ =T A1 g



26)

Question Stimulus :-

The first newspaper published in the state of Madhya Pradesh? / #tg gyder
T A IHIRIT TgalT HTIR?

Reuters/ TSI

Daily Navjyoti/ 3+ da=aifa

Gwalior newspaper/ Faifo af3sT [FgErw]

Panic/ ifa=

Correct Answer :-Gwalior newspaper/ 7afaa 9f3#T [+Eaw]

27)
Question Stimulus :-

Study the following Venn-diagram and answer the given question. /

ffaf@d a9 3INE &1 3regqa FY{ 3R ”E a0 garea F71 F9+ &

singer | SIS

o~
a RSt
T ﬂ » \ : fﬂctﬂf
%/ £ \ g| h |—dancer/ arisht
A

X
i )

oIl / Leader—

Which letter represents dancer, actor and singer but not leader? / ®ia 4T 3181 A0,
Fff=ar 3 s @1 gfafafca wwar § afwa sar #1 a8

°9g
* cC
o f
o i
Correct Answer :-f
28)

Question Stimulus :-



The tenth world Hindi conference had begun in Bhopal, Madhya Pradesh,
with the theme of and ? / &H4al {929 i) 9Fad, Ik FRwaF

qag sﬂm,mwﬁ%rﬁe_mgm?

e Hindi ka Sambhavnaye/ & & @smaame

« Hindi ka Vistar/ & &1 favar
e Hindi jagat vistar and sambhavnaye/ << siora fawar 31X wemaamw
e Hindi jagat vistar and Shubhkamnaye/ e faear sk garamrend
Correct Answer :-Hindi jagat vistar and sambhavnaye/ &= sora faTaRr 3tk @smaae

29)
Question Stimulus :-

An accurate clock shows 8 O’ clock in the morning. Through how many
degrees will the hours hand rotate when the clock shows 2 O’ clock in the

afternoon? / & W& U3 Yae # 8 91 T HAY @1l 81 Q19 7 w3 51 2 a9t FT @A
Rraelt ¥ iy 6 a1 e Rt Rt g

144°

150°

168°

180°

Correct Answer :-180°

30)
Question Stimulus :-

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12 seconds respectively.
In 30 minutes, how many times do they toll together? / 6 f&IT Ts AT FoTAT YRFH Hlcil gud

HHAA: 2, 4, 6, 8, 10 3T 12 AHS &F AT ¥ TR Ford! & | 30 fAeTe # fFaa IR v 1y T2
e 4 times/ 4 I
e 10 times/ 10 I

e 15 times/ 159X



e 16 times/ 16 I

Correct Answer :- 15 times/ 15 IR
31)
Question Stimulus :-

Recently appointed chairman of Narmada Valley development authority? /
AT Tt fasrer wiftranor & g &Y F forgarar fond arw arear —— 82

¢ Rakesh Sahni/ T&er gt
e Rajneesh Vaish/ Tareter der

e R.P. Malviya/ 3.4\ Aradiy
e J.N. Shivhare / 31.0eT. fI9@Y

Correct Answer :-Rakesh Sahni/ T&2r d1g=T

32)

Question Stimulus :-

How many times are the hands of a clock at right angles in a day? / T €8Y & HI¢ TF T & fFaeir
TR TASIOT I T &2

o 22
e 44
e 24
e 48
Correct Answer :-44
33)
Question Stimulus :-

The sum of one-half, one-third and one-fourth of a number exceeds the number by 12. The number

is: / AT T WEAT & 3T, TH-fATTS v v-AUTE FT Fer AT WA 12 A, A wEATR ?
o 144

e 154



e 90

e 174

Correct Answer :-144

34)

Question Stimulus :-

What should come in place of the question mark (?) in the following question?/ Aefafaa
e A (?) & FUTT I F91 ATAT AIMRT? ((144) + 48 x 18 +36) = \?

e 36

e 216

23328

46656

Correct Answer :-46656

35)

Question Stimulus :-

On the basis of the given two positions of single dice, find the letter at the face opposite to the face

having letter C? Tt U &Y g1 FRUTY & TR O=, I7ITHTT F 37 78R HT 9T HY AT 3 7Irsmer
foraeT 3reR ¢ F AT &2

m

'y F
S i I ‘
Fy
#
ry
F

e D

e E

e B

S A

i

i

r
F
&
F
=
r

&

r

Cannot be determined / foTeITRa H_t»pr T ST ghar

Correct Answer :-Cannot be determined / fT&ITRe ﬂﬁ' T a1 ghar

36)

Question Stimulus :-



In a division sum, the divisor is 10 times the quotient and S times the remainder. If the remainder is
46, then find the dividend / T fA8TSTer 3 $TST, HTITHA ¥ 10 T AR AYB § 5 7o 8] I

AYFHT 46 &, dY H=T AT AT |

4236

4306

4336

5336

Correct Answer :- 5336
37)
Question Stimulus :-

Prime minister inaugurates two 600 MW thermal power units in which
city? / 5w gt warea & &Y 600 ATare Ao AN [fasTell] HTSAT T IGHTST fhaT?

¢ Khandwa/ @=ar
e Indore/ &k
e Singrauli/ RRieh
e Bhopal/ sare
Correct Answer :-Khandwa/ @sdar

38)

Question Stimulus :-

The secretary of MPPSC is assisted by? / wadiditad & g ¥ - CaRT weraar
YT Y AT &2

e Four state governor/ IR T & I=JITd
e Four deputy secretaries/ IR 37 gfaal
¢ Four deputy collector/ dIX Bt FaFet
e Four state ministries/ IR I=F AFTAT

Correct Answer :-Four deputy secretaries/ ¥R 39 gfaar



39)

Question Stimulus :-

The 10" division of Madhya Pradesh is? / #eq w&er $Y 10 af T — &2

Shahdol/ agsa

Chambal/ Ia

Naramadapuram/ F#eqR#H

Jabalpur/ SeeqY
Correct Answer :-Shahdol/ gsier

40)
Question Stimulus :-

An unfolded dice is given. You are required to choose correct answer choice which is formed by

folding the unfolded dice. / T =TT H’I?:T §'3TI' graT fear = %‘I TR 3 Hel 3cd¥ HT Tded
T g o F A e orv g & Alza w @AQem




et

Correct Answer :-
41)

Question Stimulus :-

Which of the following is greatest number? / fote=t # 8 g8 73 gEu Sl dr g2

19/27

25/33

31/39

37/45

Correct Answer :-37/45
42)
Question Stimulus :-

What should come next in the following letter series based on English

alphabet? / A&7 & & 33U JoTATAT 9T ITeRT W& & FH A 33161 IJ& FAT gm?
BSJ], CTK, DUL, ?

e EVM

e EXZ

e JKL

e EMV



Correct Answer :-EVM
43)
Question Stimulus :-

The salary of a worker is first increased by 30% and afterwards reduced by 30%. What is the net
change in his salary? / U& FHETRY HT ddsT 9go 30 % & TGHIT SATAT & U 916 H 30 % A TSTAT SATAT

¢, 39F ader A ol IREcler Fa1 gHom?

91% increase / 91 Yferd dgdl &

30% decrease / 30 Ufaerd g &

9% decrease / 9 Ufaera gedt %’

None of these / 39UFd H & aﬂ?ﬂﬁ

Correct Answer :-9% decrease / 9 Sfaerd gedr %

44)
Question Stimulus :-

A kid was playing with a basket with 65 toys inside it. He took 25 from it but put 18 back
to the basket. Then again he took 22 out but put 17 back into the basket. Lastly, he took
18 toys out from the basket. So, how many toys are there inside and outside the basket?

/ TF d=3 T AFN & T T @7 ¢ Fud 65 Fala g1 39 397 q 25 F AFrar afFa 18 FF auw
AFN 7 31T ATl T 33U 22 F AT AFET AfhT AR H a9w 17 FY s &A@ 3T H, 39 18
fRalat ® agw AFen. aa: Fas @eEla 0 F 3 3R Fas a7 §2

Inside-27, Outside-38 / 3eX -27, 91gY-38

Inside-30, Outside-35 / 3ie3-30, d18I-35

Inside-35, Outside-30 / 3e-35, a@I-30

Inside-37, Outside-28 / 31e{-37, 918I-28

Correct Answer :-Inside-35, Outside-30 / 37e3-35, a1g3-30
45)

Question Stimulus :-

Consider the following statements about Battle of Bauxar / §F8Y TS F IR



A rafaf@d Yl W RAR ¥

1. Mir Kaism formed in alliance with Shah Alam II and Shuja-ud-daula of Awadh / #X HIfdH
RITE 3T+ 11 3R AT & YETSEIaT & WY AT FoIrT

2. The combined forces defeated Britishers / ?I'{Ifl-?l’ AT Tat A AT Y qfora FAT)
Which of the statements is/are true? / ®isT TT [W] FUT TET & [2]]

Both 1 and 2 / 1 31X 2 gkt

2 only /&ad 2
1 only / Fael 1

Neither 1 and2/ﬂT?ﬁ13ﬁTﬂT€r2

Correct Answer :-1 only / &del 1

46)
Question Stimulus :-

The difference between compound and simple interests on a certain sum for 2 years at 5% per

annum is Rs.40. The sum is? / FHt fafRaa af¥r & fore amumor sarer 3k g sarer & i
AT 5% a1 =TT Y X @ 2 a8t & AT 40 T9 &3 T 7 g e

¢ Rs.16,000

¢ Rs.15,000

¢ Rs.12,000

¢ Rs.10,000
Correct Answer :-Rs.16,000
47)
Question Stimulus :-

The total ages of Ruhi, Richa and Reema is 60 years. What was the total of their ages 3

years ago? / &, Rar 3 &mm & For 3mg 60 a¥ 31 ier a¥ qF 3y Y FT Ar FAT AT?

e 57years/ 57 a¥



e 52 years/ 52 a¥
e 51 years/ 51 a¥
e 54 years / 54 a¥
Correct Answer :-51 years/ 51 a¥

48)

Question Stimulus :-

Mark the correct statements about the Regulating Act of 1773 / 1773 &
faferaere srfafaaer eafeer vae] & aR & 98wy Famw|
1. Act established the office of governor-General at Fort William / 3rf@faaer

B¢ AT & Taei TR & 9 [F1aTad] H TA9=T H

2. Warren Hastings was appointed as the Governor of Bengal in 1773 / 1773

# IR FRETH Y T & ToquTel & T H Trgarer o aram i

1 only/ #ad 1

2 only/%&aw 2

Both 1 and 2/ 1 3k 2 @@=t

Nither 1 andZ/FITElTl3ﬁTF|T€f2

Correct Answer :-

Both 1 and 2/ 1 3k 2 3=t

49)
Question Stimulus :-

Three partners invest Rs. 2000, Rs. 2500 and Rs. 1000 in a business. How much will the last
partner get out of a profit of Rs. 880? / cfie TSGR T& qaa@™™ & 2000 ¥, 2500% 3R 1000% s=mTet

&1 el 18T 880 T A W 3ifarw WrASR 1 fheat fewar fAreram?

e Rs.320



e Rs.350

e Rs.400

¢ Rs.160
Correct Answer :-Rs.160
50)
Question Stimulus :-

The average age of S members of a family is 21 years. If the age of the youngest member be 5 years,
find the average age of the family at the time of the birth of the youngest member. / T IRAR & 5

HeEat ¥ 3itad g 21 9 § | I qa@ o W 1 1Y 5 a¥ ¢, A 39S o7 & qHT IRar Ay
Aua g AT |

24 years / 24 ¥

25 years / 25 ay

20 years / 20 ¥

28 years / 28 ay

Correct Answer :-20 years / 20 a5

51)
Question Stimulus :-

Which Viceroy’s tenure in India known as the full of missions, omissions

and commissions / §Rd # %A IETT & FHEF F FewT, TF 3T 3@ & #7 @
SATAT STar

Lord Lytton / até fees

Lord Curzon / & #oia

Lord Irwin / aéstfaa

Lord Ripon / =18 Rua

Correct Answer :-

Lord Curzon / &1 s



52)

Question Stimulus :-

1 1
Rs.1900 is divide between A, B and C so that A's share is 12 times B's and B's is 12 times C’s. What
C’s share? /1900 39T A, B3R CFfasuae mea R R gar As R BF ea a1
1 1

2 AT Y AR B T REWT CF REQ A 12 18T | C F1 REwr FA 82
¢ Rs.800
e Rs.420
¢ Rs.400
¢ Rs.900
Correct Answer :-Rs.400
53)
Question Stimulus :-

Mark the incorrect pair / rad SIET (7| W et eame

Nagpur- Bhosle / ATTI- siraer

Baroda-Gaikwad / ssier- Mmasars

Indore - Holkar / sgR - gieax

Jabalpur- Sindia / STeeqT - fft=m

Correct Answer :-Jabalpur- Sindia / W—ﬁﬁm

54)

Question Stimulus :-

The Stomata in the aquatic plants is ? / STl oie} & Ter &2
 Not Found on upper surface / 39 Hdg W oTET e
e Available on both the surfaces / g Gdgl W 3Ycsy

e Available on upper surface only / 39 ddg W & 3Uds¥ §



e Available only on lower surface / $ad f@gdl ¥dg W 39esy
Correct Answer :-Available on upper surface only / 39 §dg W & 3Ude¥ §

55)
Question Stimulus :-

In 1 litre mixture of sprit and water, 20% is water. How much sprit should be added, so
that the proportion of water becomes 5%? / f&9ye 3R gl & 1 ofex R & 20% 9=t §1

fraett Rve 3R e X arfes at fs #mar 5% & S

3 litres / 3 offeX

4 litres / 4 X
5 litres / 5 GﬁET

6 litres / 6 &ieX

Correct Answer :-3 litres / 3 oflex
56)

Question Stimulus :-

Which among the following causes Hydrophobia ultimately? / A&faf@a &
d ot siaa: TAaF FT FROT a1aT &2

Virus / fawor

Bacteria / dFORar

Protozoa / W3

Worm / &s1

Correct Answer :-Virus / fasror
57)

Question Stimulus :-

Deficiency of Tocopherol leads to sterility in males and females. The

popular word for Tocopherol is ? / AFA A FAT F ot AR Afgansd A
qIST9el Y 3R 1T ¥ AT F BT dAF aeg ¥



e Vitamin B3 / [@erfaa &t 3

Vitamin K / Rafaa K

Vitamin E/ fQaf@a §

Vitamin C / Rafa=s

Correct Answer :-Vitamin E/ Reaf@=a §
58)
Question Stimulus :-

A person develops resistance to the action of insulin in the body's cells, it

is Called as ? / @& gfad & iR & St 7 sgfae fr siars
o F v gfedr ReEfa aar 8,38 FET STaT §?

e Type 1 Diabetes / T3T 1 AYHF

e Type 2 Diabetes / €37 2 AYHT

e Option I and II / fa®eq 13k I

¢ None of the above / sa#% @ 1§ off g7
Correct Answer :-Type 2 Diabetes / 237 2 Hg'ﬂ'g

59)
Question Stimulus :-

A man walking at the rate of 3 km/hr crosses a square field diagonally in 2 min. The area of the

field is: / U 3MeHY 3 . #Y. gfay o2 Y a1fy ¥ v FoTR &7 F RFoia: 2 e F v aFar
& FT STAB o ATd FITAT|

5000 meter square / 5000 gt dAex

2000 meter square / 2000 It Hlex

3000 meter square / 3000 gt Hex

500 meter square / 500 Tt Hlex

Correct Answer :-5000 meter square / 5000 gt Alex



60)
Question Stimulus :-

A is twice as good a workman as B, and finishes the work in 14 days less than B. In how many days

can it be done by A alone? / A, B & QAT age A ¢, 3 frelt w17 :1 B & 14 et vt @wewn
FICAT &, AT A 3T 3H F1o F frast et F @ear F3m?

e 14

e 21

o 28

e 42
Correct Answer :-14
61)
Question Stimulus :-

India has Political System? / IR # TSt o JoTTelt 872

Federal, Presidential, Republics / F€ ,Irseqfa ,IoR=T

Republic, Parliamentary, Unitary / TOReT §8/4T , 6gFd

Unitary, Presidential, Republics / ¥ ,rsgufa,0RT

Federal, Parliamentary, Republics / T8 0T ,I0RT

Correct Answer :-Federal, Parliamentary, Republics / €I, 5849 ,I0RT

62)
Question Stimulus :-

In how many different ways can the letters of the word ‘PUBLIC’ be arranged so that the vowels

are at the two ends? / 1eq ‘PUBLIC’ #aﬁﬁaﬁﬁmﬁfﬁﬁraﬂﬁ#mﬁmmm&
afF T e o T |

e 48

o 72

e 36



e None Ofthese/mﬁ'@'aﬂ?ﬂﬁ

Correct Answer :-48
63)

Question Stimulus :-

According to Constitution India has been described as? / #ﬁﬂm#s@'ﬂﬂm
& e w0 & afvta a2

Union of States / T<4T T HEI'

Federation of States / U3l &1 HsSA

Confederation of States / T &TIRAT

Centralization of State / TS &T HIHI0T

Correct Answer :-Union of States / !Io-_éﬁ I '\'TEI'

64)

Question Stimulus :-

A coin is tossed. What is the probability of getting a head or a tail? / Tsh fAFT IBTAT 14T gl
€S AT S 3T Y FHATTAT 4T 112

e 0

e 1

e 12

e 1/4
Correct Answer :-1
65)
Question Stimulus :-

If the height of right circular cylinder is 10 cm and radius of its base is 4 cm, find its total surface

area? / Ifg T Jo8=T Y FT1$ 10 cm ¥, 3 387 3MUR F BT 4 em &, A 38F TFOT T8 84
T &A% AT HIfare?

e 350 cm?



e 351 cm?

e 352 cm?

e 353 cm?
Correct Answer :-352 cm?
66)
Question Stimulus :-

Which of the following amendments took away the right to property from

the list of the fundamental rights? / frafai@a wau=T @ #Alfo® sfeRt fr g Fa
HR ¥ TR Y et et foram?

42nd

44th

45th

e 43rd
Correct Answer :-44th
67)

Question Stimulus :-

Article 30 of the Indian Constitution deals with the? / R G T e
30T FTIATE FIAT?

Freedom of conscience / 3FR'IF«F|T & F:IFI?EIT

Right to propagate religion / &3 &1 YgR #{a 1 HAFR

Rights of minorities to establish and manage educational institutions / 3cqaEIs #1
Afdre TrgET A TATET 3R g F T AAER

Cultural and educational right of the majority community / Wwaﬁrﬂ'ﬁﬁ?
3k dfEr R

Correct Answer :-Rights of minorities to establish and manage educational institutions /

FeqHETS! i A AT i TUTIaT 3R yau= w1 AAFR

68)



Question Stimulus :-

Given below is a line graph, showing the percentage profit of company A and company B from
2010 to 2014. Study the graph carefully and answer the questions. / fa&eT 3@ 3@ A Huet A vd

HYsil B F 2010 A 2014 T ST T fea G171 1T § | [T 3@ FT €A 6 eqgqaT #3311
weaAT & JeeaT &

0
&0
50

40

—*—Company A /T A
30 —8—Company B / 9T B

20

10

2010 2011 2012 2013 2014

Find which company earned more profit in the given period? / JTd L Frfaw g'U AT e H
e aelt F SmeT @t 3rfota fFam?

Company A/ HFYAT A

Company B/ H94T B

Both earned same / S¥=T &Y 3rfora

Can’t be determine /fAuTRa g frar ST F&har

Correct Answer :-Can’t be determine /eRa a8 fFar ST FFar
69)

Question Stimulus :-

The term ""Round Revolution" In India is related to which among the following? / R H ersg
"IMATHR Fife [T133 WEegerH|" Rrafaf@a # ¥ Fad sefta



Cricket ball / frdec i

Potato / 31T

Egg / 3isT

Fruits / v
Correct Answer :-Potato / 3T

70)
Question Stimulus :-

Where are the headquarters of Central rice research Institute in India? /
5 " . #197 .

e New Delhi / 7§ fgeeh

e Kolkata / F:xasrar

e Cuttack / ®c®

e Hyderabad / e
Correct Answer :-Cuttack / #c&

71)
Question Stimulus :-

With which of the following countries, India shares minimum length of
border? / fArafaf@a at & @ fFad are, s €T it FLTa# oa1s q= Fare?

Pakistan / 9ifEdaE

China / i

Bangladesh / sidreer

Afghanistan / 3sreamfasaeT
Correct Answer :-Afghanistan / 3anfaEdeT

72)

Question Stimulus :-



Andaman and Nicobar islands judiciary falls under the supervision of the

? / 3z AR AR gElia wog B aatas Y TG F A ATl §?

e A circuit bench of the Bombay High Court at Port Blair / 9 saR i Ha$ 3ea ~ArITaT Y
TS dfhe &

¢ A circuit bench of the Madras High Court at Port Blair / ¢ sadRX # #AgR 359 <A1 $Y
TS Afhe &

e A circuit bench of the Kolkata High Court at Port Blair / 9I¢ saaX & flaeTdl 3°d ~A=ATdT
v Afhe a

e A circuit bench of the Delhi High court at Port Blair / 9i€ sa3% & feedll 3va ~I™eT f v
afhea

Correct Answer :-A circuit bench of the Kolkata High Court at Port Blair / Q¢ sobT & Slasrdl
3T AT HY UF Gihe a9

73)
Question Stimulus :-

Given below is a line graph, showing the percentage profit of company A
and company B from 2010 to 2014. Study the graph carefully and answer

the questions./ @& T 3@ & 9 A t9 Y B & 2010 ¥ 2014 d& T FI
yfrerd e I 1 W AT FT A @ JeaqT FY AR g & Iea &

i0
60
50

40

—+#=Company A / FTAT A
30 —®—Company B / T B

20

10

2010 2011 2012 2013 2014

If the investment of company A in each year was Rs. 1 crore, find the average profit for the



company for the given period./ﬂﬁMAWﬁﬁQTm 1 arngma’ra’rﬁtrgtrmm
H 9T 1 A o137 AT F

0.45 crore / 0.45 FA3

0.5 crore / 0.5 FS

0.49 crore / 0.49 AT

0.52 crore / 0.52 3

Correct Answer :-0.49 crore / 0.49 FS

74)
Question Stimulus :-

DIRECTIONS: This question is followed by two statements 1 and 2. Indicate your responses based

on the given choices?/mﬂ':WWHﬁﬁWIﬁZﬁ?g@%I m:frqﬁﬁnrraﬁﬁirgc
et & 3muR 91 sfFa w12

What is the value of Y? /Y EFT?I'HW%?
Statement 1: Y-3=2/ fgad 1: Y-3=2

Statement 2: Y2 = 25/ YT 2: Y2 =25

e If a question can be answered by using statement 1 alone but not by using statement 2 alone/

I TR HT 3cR Fad FYA 1 F 3TANT § AT 1 S R FYA 2 & 9L § 7|

o If a question can be answered by using statement 2 alone but not by using statement A alone/

ITE T T 3caT Fael FYT 2 FITANT W AT 1 7F W] FYT 1 F 397WT § 7|

o If the question can be answered by using statement 1 and statement 2 together but not by
using either statement 1 or statement 2 alone / If& T2 &T 3 HYT 1 FINFUT 2 F v T

3R A T 7 | G et off U e 1 97 2 F 39T & A

o If the question cannot be answered even by using statement 1 and statement 2 together/ Ifg

QT FT I gleY HYUAT 1 31T 2 & v 1 IqAer F oY o Rar 51 T |

Correct Answer :-If a question can be answered by using statement 1 alone but not by using

statement 2 alone/ I Y FT IcdX el HUA 1 ?W@'WETWWWZ?W@



gl
75)

Question Stimulus :-

Barren island is only active volcano is located ? | Fad T [aﬁl'] Z'\?’I'CI' s afehg

East coast of north Andaman / 3ca{l 3sH HTqdi de

South coast of South Andaman / Ef&ivr A &1 @A de

West coast Middle Andaman / 9R9#H d< A 3=A

West coast of Nicobar / fa@ar &1 afest ac
Correct Answer :-East coast of north Andaman / 3cadl 3T &1 qdf a¢

76)
Question Stimulus :-

DIRECTIONS: This question is followed by two statements 1 and 2. Indicate your responses based
on the given choices? / f&er : sH A H Y vy 1 3iv 2 ﬁ?’rgc%l 3raait fafar i B3 go

el & 3TUR W 3fRa 12
What is the value of x?/ x <l HTel T %’?
Statement 1: x2 = 4/ FYT 1: x* =4

Statement 2: x <0/ hYed 2: x <0

o If a question can be answered by using statement 1 alone but not by using statement 2 alone/

AT TR HT 3cR Fad FYA 1 F 3TANT § AT ST S R FYA 2 & 392G § 7|

e If a question can be answered by using statement 2 alone but not by using statement A alone/

ITE TR HT Scc Had HYA 2 F3GANT § AT 1 TS W FYA 1 F 39A1T § g |

o If the question can be answered by using statement 1 and statement 2 together but not by
using either statement 1 or statement 2 alone / If& T2 T 3 HYUT 1 IRFUT 2 FUF AT

3T ¥ FAT ST W ey Rl oft va awereT 1 3T 2 & 39T F 7

o If the question cannot be answered even by using statement 1 and statement 2 together/ Ifg



e &T 3T A1) FHYUAT 1 3 2 ¥F T {1 39T § Y o f&am 51 1|

Correct Answer :- If the question can be answered by using statement 1 and statement 2 together
but not by using either statement 1 or statement 2 alone / Tf& ¥2&T FT Ica} FYA 1 IRFUT2F

UH |TY 3R § AT A1 W& e et off v woreT 1 a2 & swer @
77)

Question Stimulus :-

National flag of India is Ratio of width and length? / TR & IUSEIT &aof Y TISTS 3R =TS FT
AT &

Correct Answer :-2: 3
78)
Question Stimulus :-

The “Satyameva Jayate” was adopted from? / "HcdAd STIQ" FY — TIATIAT 31T YT?

Rigveda / %7dg

Yajurveda / 39

Ramayana / AT

Mundak Upanishad / #§us® 3ufawg
Correct Answer :-Mundak Upanishad / gvga?sqﬁm{

79)
Question Stimulus :-

Boat race a special feature, of which of the following festivals in India? /
sitehT gls s & et fld calert & & e v @ Rdvars?

e Onam / 3orH



. Bihu/ﬁr{

e Pongal / 9iarer
e Baisakhi / 3gTdEY

Correct Answer :-Onam / 3orH

80)

Question Stimulus :-

Yakshganga is classical dance of? / Ja139m —— T ATEAT T 82

Uttar Pradesh / 3cal year

Bihar / fagrR

Maharashtra / #gRTSC

Karnataka / &l

Correct Answer :-Karnataka / FaTcaH

81)

Question Stimulus :-

Central tobacco research institute is situated in? / aw_;ﬁ'ﬂ' Fﬁ'ﬁj W WQTI?I' ------- " £2i6 %’?
e Kanpur / &
e Delhi / Rt

e Rajmundari / TS#gd
. Hyderabad/%ﬂﬁﬁ

Correct Answer :-Rajmundari / TIGDgaﬁ
82)
Question Stimulus :-

Famous freedom fighter, who was famous as “father of India un rest”? /
UG Fac=ar A= st "SR Jrenifay & Rar & v A g 47



Mahatma Gandhi / AgTcAT el

J. L. Nehru / 3.0, dg®

Bal Gangadhar Tilak / a1 39MeR fAas

None of these / s?l'ﬂ' @ ﬂ-ﬂ%’ gl

Correct Answer :-Bal Gangadhar Tilak / e 3emeR faes

83)

Question Stimulus :-

First Nuclear power plant was established in India? / #Rd H gger YIAT] T[] o e— 7
YT T o am?

1951, Trombay / 1951, 2iF

1956, Trombay / 1956, &

1961, Tarapur / 1961, dRTIY

1960, Narora / 1960, AXRT

Correct Answer :-1956, Trombay / 1956, Fa

84)
Question Stimulus :-

In which of the following operation was conduct by Indian government for
Hyderabad? / & # & $le a7 3T §aa1g F AT 3R XFR garT o aram or?

e Operation Shakti / 3T afFa
e Operation Polo / 392 giaY
e Operation Flood / 3iTe< Fais
e Operation Unity / aﬁ?&maﬁﬁ
Correct Answer :-Operation Polo / 392 et

85)



Question Stimulus :-

India’s first state release Human development report? / #TId fAsTa Rae S S 1T TR F1

e Uttar Pradesh / 3cai weer
e Bihar / @8R
e Kerala / e

e Madhya Pradesh / #ET UG2r

Correct Answer :-Madhya Pradesh / #€J qeer

86)

Question Stimulus :-

In which of the following is longest and shortest national highway of India respectively? / foy&sT 7Y
CaT ;) R T FHAM: FaY a1 3T Fad BT TSET TSTAT §2

NH-1 and NH-2 / tta -1 3 vaATe 2

NH-7 and NH-47 / wavg -7 3R vauer 47

NH-7 and NH-36 / Tt -7 X wa0T -36

NH-1 and NH-10 / 0¥ -1 31X va0e -10

Correct Answer :-NH-7 and NH-47 / Tt -7 3R vawer 47
87)
Question Stimulus :-

Which of the following is not included in redistribution policies geared to
reduce inequalities in wealth in India? / @& & @ #l9 IRT F g A srmaEE

P FA T & AT AR gafaaror Afaat F arfde a8 2
e Regressive tax policies / yfaem#t &v Afaar
e Laud reforms / WIgIT Fgad

e Overall rural development policies / ot amfior Rera i Aifaar



e Progressive tax policies / warfasfier &x Afaar
Correct Answer :-Regressive tax policies / wfaemst v Afaan

88)

Question Stimulus :-
The budget deficit is? / ssic =er §?

o Difference between all revenue receipts and revenue expenditure / §sfl T=rFa wfeaay
IR ToFT @ F fig Haw

e Difference between exports income and import income / 3T 3ma 31X 3maa 37 &
#T 3w

« Difference between all capital receipts and capital expenditure / it g3l a7 wifte 3k
qSl ITd AT F T T AR

* Difference between total receipts and total expenditure /el wiftq sk Dol Y & €T FR

Correct Answer :-Difference between total receipts and total expenditure / gﬁl’ wifea 3l iﬁl’ CE
& dfiT I’

89)

Question Stimulus :-

Devalution of currency will be more beneficial if / #aT &1 dHIA kb eg
BIRIGHE §1M:

e Inflation remain constant / FgFhfa A o Fuw W@l
* Price of exports remain constant / fadta # Aeg fFux @
e Prices of imports remain high / 3maia #1 fFd S g W@
e Prices of exports remain high / @afa & fwd FA a=t Wah
Correct Answer :-Price of exports remain constant / ot &1 A R W

90)

Question Stimulus :-

Which of the following is not included in national or union debt? / fa&=T # &



i T TSET AT /T HOT A AT AL §?
o LIC/ s Sfaer e
e Long term government bonds / &E&ifa® TFR a7
e Short term government bonds / &Y 3afr & w&RT a3
e National saving certificate / T¢I s9d YAOT 9
Correct Answer :-National saving certificate / T s9ad YATT 99

91)
Question Stimulus :-

Where will be the headquarter of Asian Infrastructure Investment Bank is
situated? / TRIaT$ gfaam o & e 3% F1 gEaTET Fol Y 2

Beijing / difSr

Shanghai / =TS

Hong Kong / BTeT&IeT

Macau / a=13F
Correct Answer :-Beijing / #ifSiar

92)

Question Stimulus :-

Recently, Who is elected as the prime minister of Nepal? / &« & & ,f&% sqrer
& gUTeTHs & ¥ A FaiRa fhar = g2

K.P.Sharma Oli / &.d).emAT el

Meera Kausambi / #R71 #igwft

Ranjinder Puri / e gt

RR Patil / 3R 3R wsifew

Correct Answer :-K.P.Sharma Oli / &.dY.em&AT 3iel

93)



Question Stimulus :-

Who is the winner of the Japanese Grand Prix award? / JTarit 7 ff (&R &
Aorar T ¥

Lewis Hamilton / 9% gfeear

Nico Rosberg / @& qwast

Popov Ivan / Q9ig sdarel

Magnus Carlsen / #7H srias

Correct Answer :-Lewis Hamilton / T5¥ gffees
94)

Question Stimulus :-

Where was the IPIC forum held recently? / 3mEN3mSH R grer ) & Far smafoa
T =T ar?

e Fiji / fsh

e India / #RdT

e Palau / 9a13

« Papua New Guines / 91931 & i
Correct Answer :-India / #Rd

95)

Question Stimulus :-
What is operation Fox Hunt? / 3T BiFd g¢ [ Fagd 82

e A drive by Indian soldiers to catch the terrorist / 3Td®aridl # gHsa & AT aRdT AfAFT
1 A

e An operation to contain ISIS by America / ISIS U&a F fav AR F1 3TRYF
A military drive of Russia to help Syria / T % @Rt §iRaT # #Agg F= F fovw =7 7w

e Chinese law enforcement operation / =l st TadsT AraersT



Correct Answer :-Chinese law enforcement operation / =t FTlT daeer 3o
96)

Question Stimulus :-

The 15 world Championships in Athletics were held in? / tgafeag @ 15 dt
e dRT=fRT Fer 3mafaa i 1€ A2

America / 3AR&®T

China / #ia

Russia / &

Canada / s4mEr

Correct Answer :-China / e
97)
Question Stimulus :-

Headquarters of OPEC is at? / OPECH H{&aTad I8! foud 8?2

Vienna / @g=r

New York / &g ai&

Paris / IfR®

Egypt /&=
Correct Answer :-Vienna / fag=r
98)

Question Stimulus :-

Mark the correct statement about European Free Trade Association./ @Tﬁ'ﬂ

HFT AR 6T & aR A ¥ F4a1 RAfegad F

a. an alternative for European states that were not allowed or did not wish
to join the European Economic Community (now the European

Community) /g0 3fd+ eqerr 3@ AT woerr (7 afda @ & fT s an
et arer g Qe & faw v fawe



b. Only for the members of European Union / ¥a« JUd 9 & #gwdl & favw

Only a/ %dd a

Only b/ &ada b

Both a and b / a3k b &=t

Neither a and b / a3ilx b &=t 71gT

Correct Answer :-Only a / &ddl a

99)

Question Stimulus :-

Which is the biggest bell in the world? / gfam it @ad a3t €t T a1 F47 82

Great bell at Moscow / ATER # I 9o

Silver bell at Egypt / &9 & Reavt s

Large bell at London / #&s & aTer a

Giant bell at china / & & J¥<e ao

Correct Answer :-Great bell at Moscow / ATER # A< da

100)

Question Stimulus :-
Where is the Wailing Wall is situated? / afaer ater Fgl oud £?
« Egypt / A%
e Jerusalem / I AR
e Australia / 3ireefar
« France /wiw

Correct Answer :-Jerusalem / S&HAH



